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BACHELOR OF SCIENCE (B.Sc.) 
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December, 2013 	00050 

LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six 

questions from. Q. No. 2 to 8. 

1. 	(a) State whether the following statements are 	5 
true or false : 
(i) Elasmobranchs have heterocercal tail. 
(ii) Juxta glomerular cells contain lots of 

Golgi bodies. 
(iii) Anabas has dendri form labyrinthine 

organ. 
(iv) Common name of Tachy glossus is 

platypus. 
(v) Scientific name of Rhesus monkey is 

P. entellus. 

	

(b) Fill in the blanks : 	 5 
(i) Pneumatic bones are found 

in 	 
(ii) Old world monkeys belong to 

group 	 
(iii) Sertoli cells provide 	 to 

growing spermatids. 
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(iv) Purkinje cells are found in 

(v) Light emitting chemical found in some 
animals is 	 

(c) Give two examples of each of the following : 	5 
(i) Batesian mimicry 
(ii) Blood proteins 
(iii) Lung fishes 
(iv) Monogamous primates 
(v) Hormones from neurohypophysis 

(a region of pituitary ) 

	

2. 	Differentiate between the following pairs : 21/2x4=10 
(a) Horns and antlers 
(b) Diphyodont and monophyodont 
(c) Mesonephros and metanephros 
(d) Procoelous and ophisthocoelous vertebrae 

	

3. 	Write short notes on any two of the following : 
(a) Filter feeding 	 5x2=10 
(b) Fixed action pattern 
(c) Marsupials 

	

4. 	Explain phylogeny of kidney with well labelled 10  
diagrams in vertebrates. 

	

5. 	(a) Write a note on Archaeopteryx. 	5x2=10 
(b) Draw labelled diagram of Transverse 

Section ( T. S. ) of pancreas. 

	

6. 	Write two important characters of following : 2x5=10 
(a) Hemichordata 
(b) Acipenser 
(c) Pit organ in a snake. 
(d) Salt gland 
(e) Lymphatic system 
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6. 	F-I4--irrirtIcI t t Iff--Vi -.wr -f -fti7 : 	2x5=10 
(a) H chi

- 
dl 

(b) >q •-w 

(c) 4N -4 Tr4 afrr 

(d) clay' f2T 

(e)M-1 .-q.  

7. (a) 	'.-1-taT 	-c4R . --TTIT ffiN7 I 	 5x2=10 

(b) 	1-ii-1ol 31-Nr -wT -11 4-iiromi rcli --ir-7 I 

8. (a) 	-9-Nit -4 	ohl 4t-cfril .4 -r-zi 'TT -qui-9" 	5 
--1-r---A7 1 

(b) 	4-40rogl. -14 	Na-) - .R-1.-1 31.-Tr -wr - 1-rr-A-v 	5 
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7. (a) Describe four distinctive characters of 
chordata. 	 5x2=10 

(b) Draw a labelled diagram of human eye. 

8. (a) Explain structure and function of air sacs 	5 
in birds. 

(b) Describe the accessory respiratory organs on 	5 
fishes. 
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fd-OT9' 	cl ch 

	 TIAITT 

rqW.c4 2013 

el "rff 

"TF.714.-10 : 	fedgMT-II 

	

F/71/77 : 3 F/T4 	 37-FETWT4 3fW : 75  

	

5/q e/ 	37 f7-47/ r i 377-g Wtsea 	2 # 8 4.  4 

w-q?-* dTV FYN 

1. 	(a) 	F-1+rriruci 	t TIT +Rio (T or F) : 	5 

(i) *oh • t 	t I 

(ii) q14Ri7i 	1. 1.1-)13Tf 	Isics,-ilchlq 	aftr- 
k-ksci 	4 	(-11 t 

(iii) 4F4ff241-  afrr 	 t 

(iv) . c45 /el ckHir 	9T7 "cAtcRi t I 

(v) ftTRi oiqt 	4-jffi 714 7#. kild7c10 t I 

(b) 	-ft-wr T-21-F 	: 
	

5 

(i) cii1 icT alf-T-24-$ 	4 	 

t 

(ii) f1u1rciqci cio-R 	 aoi 4 

t 

	 yqoi 	t 

LSE-10 	 4 	 P.T.O. 



5 

2. 	-14-1 RAd Rirlt 3tT{ ffft17 : 

(a) 7Thr 

(b) f 	altca1 ictvAR(4) 

(c) 1:1-Mcl-ch 

(d) cl-)4-) 

21/2x4=10 

3. 	F-14-1ror 	c1 	 Ti4cr fatcruftfr1 F 	: 

(a) f97:z1-1.3 	 5x2=10 

(b) f9-Tifff aT -51F-dT7 

(c) 1-114\114 	 

4. 	ct-) 	chi -4 la-ch 	s711 d 	chd 31-frd' 
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5. (a) 3-77-g-zi 	TV{ ch 	I 	5x2=10 
(b) 	31-14477{ 	31---gft-2T -1-e (T. S.) .1 114-II 

eDI-1 	I 
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